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1) The Question Booklet has paper seal pasted on it. Candidates should open the Question Booklet only when they are asked to do so by the
Invigilator.

2)  Immediately after breaking the seal the candidates must check that Question Booklet has 100 questions with multiple choice answers. If
there is any discrepancy, immediately report to the Invigilator, for change of Booklet.

3)  The Question Booklet has 3 (Three) parts, namely Part A, Part B & Part C respectively. Part A consists of 25 questions (1 to 25) on General
Knowledge. Reasoning & Analytical Ability, Part B consists of 25 questions (26 to 50) on Mathematics, Part C consists of two parts (I & I1);
Part [ English Language 25 questions (51 to 75) compulsory for all, Part I1 consists of Three Regional Languages (Bengali/Hindi/Nepali) 25
questions each (76 to 100), Candidate has to answer for any one Regional Language out of Three options given, as per choice indicated
in online application,

4)  Each Question Booklet has a Booklet Series A, B, C & D (printed at the Right Top Corner of the page) mentioned on it, which every
candidate must carefully fill in the respective place provided for this in the OMR Answer Sheet. Failing to copy this series code in the OMR
Answer Sheet will be liable to rejection of the OMR Answer Sheet.

5)  Candidate must write his/her Name, Roll No., Date and then Sign on the front page of the Question Booklet at the appropriate places marked
for this purpose.

6)  Answers will have to be given on the Special OMR Answer Sheet supplied for this purpose. Question numbers progress from 1 to 100 with
alternative answers shown as A, B, C and D.

7)  Answer Sheets will be processed by electronic means. Hence, invalidation of OMR Answer Sheet resulting due to folding or putting stray
marks on it or any damage to the answer sheet as well as incomplete / incorrect filling of the answer sheet, will be the sole responsibility of
the Candidate.

8)  Please use only blue or black ball point pen to mark your answers.

9)  While answering, choose only the Correct Alternative Answer from the four choices given alongwith the question and respond the same by
shading the corresponding OVAL in the OMR Answer Sheet only. Answers without anv response, shall be awarded zero mark, There will

10)  Darken completely only one OVAL which you think is correct as shown in the figure below :

Correct Method Wrong Method

® O OO ® 00O

I1)  Mark the answers only in the space provided. Please do not make any stray marks on the answer sheet. Rough work must be done on the
pages (Space for Rough Work) given at the end of the Question Booklet and/or inside the Question Booklet.

12)  Please hand over the Question Booklet and the OMR Answer Sheet to the Invigilator before leaving the Test/Examination Hall,

I3) Use of any electronic Device like Mobile, Calculator ete. is strictly prohibited, if found in possession, your candidature will be cancelled.
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PART - A

Direction for Question Nos. 1 to 3 :
Following questions consists of two words each that have a certain relationship to each other, followed by four
lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words printed
in bold.

1. Insect : Crop
A) Moth : Wool B) Fibre : Jute C) Thread : Cloth D) Neem : Cotton

2. East : Orient
A) North : Polar B) North : Tropic C) South ; Capricorn D) West : Occident

3. Paper: Ream
A) Twigs : Bush B) Egg: Dozen C) Food : Packet D) Book : Pile

Direction for Question Nos. 4 & 5:

Complete the series by choosing the correct one in place of “? ™.

51 48 57

78 109 61 102 59 110

82 89 ?

A) 88 B) 78 C) 96 D) 48

5 /;3\ 12 7 /&:\ 15 9 m 17
_/ _/ ot
A) 108 B) 135 C) 127 D) 105

6. In a code language, if BOYS is coded as SOYB, how GIRL will be coded in the same language ?
A) LRIG B) LIRG C)RILG D) RLIG

7. Acyclist goes 30 km to North and then turning to East he goes 40 km. Again he turns to his right and goes 20 km.
After this he turn to his right and goes 40 km. How far is he from his starting point?

A) 40 km B) 50 km C) 25 km D) 10 km

8. Introducing a lady, a man said, “Her mother is the only daughter of my mother-in-law”. What is the man to the
lady?
A) Son B) Father C) Uncle D) Husband
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Direction for Question No. 9 ;

Arrange the given words in alphabetical order and find out the one that comes in the last.

9, i) Robber i) Rocket iii) Random iv) Restrict
A)i B) ii Q) iv D) iii

Direction for Question No. 10 :
Choose the missing terms out of the given alternative.

10,  AZ, GT, MN, 7, YB

A) KF B) SH C)RX D) TS
11. How long is an [PO valid ?

A) 2 years B) 3 years C) 4 Years D) 1 years
12.  Who will sign on Parcel Abstract ?

A) Head Sorting Assistant B) Parcel Sorting Assistant

C)BothAand B D) None of these
13. *“Satyameva Jayate” has been taken from the

A) Rig-Veda B) Upanishad C) Ramayana D) Natya Sutra
14. EMS means

A) Electronic Mail Service B) Express Mail Service

C) Enabled Mail Service D) None of these

15.  “Dasakumar Charitam™ was composed by
A) Surdas B) Kalidas C) Tulsidas D) Dandin

16.  Asian Ocean Postal Union is having its head quarter at
A) Dacca B) New Delhi C) Singapore D) Manila

17. Human Rights Day is celebrated on
A) 10" Dec B) 5" Sept C) 13" Oct D) 18" Nov

18. The Ajanta consists of
A) Buddhist caves B) Jain caves C) Hindu caves D) None of these

19.  Which of the following in India has the oldest rock

A) The Himalayas B) The Aravallis C) The Siwaliks D) The Indo-Gangetic plain

20.  *Yuva Utsav’ is celebrated in memory of the birth day of"
A) Rishi Aurobindo B) Netaji Subhas Chandra Bose s
C) Swami Vivekananda D) Lala Lajpat Rai
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21. The World Scout Bureau is in

A) Canada B) Geneva C) France

22.  Tragopan is an endemic bird of
A) Nagaland valley B) Desert of Rajasthan
C) Coastal zone of Orissa D) Mangrove of Malaysia

23. Leukemia is the disease of

D) India .

D) Nerve

D) 1981

A) Lung B) Blood C) Heart
24,  The Fundamental Duties of Indian Citizens were incorporated in the constitutions is
A) 1952 B) 1976 C) 1979
25. The abbreviation ‘UPU’ Stands for
A) United Postal Union B) Universal Postal Union
C) United Pacific Union D) None of these
1210_15(B) 5
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PART - B

26.  An amount of money is to be divided between P, Q and R in the ratio of 4 ; 7 : 9. If the difference between the
shares of Q and R is Rs.500/- , what will be the difference between the shares of P and Q?
A) Rs, 500/- B) Rs. 750/- C) Rs. 800/- D) Rs. 1000/-

27. Ifthe Ist day of a year (other than leap year) was Friday, then which was the last day of that year?
A) Saturday B) Monday C) Thursday C) Friday

28.  Which of the following is a prime number?
A) 161 B) 234 C)373 C) 8091

29. A sum doubles itself in 6 years at SI. In how many years will it become 6 times at same rate?
A) 24 years B) 30 years C) 36 years D) 34 years

30. How many solid spherical balls each of radius Icm can be made out of solid metallic cube of edge 22cm?
A)22 B) 120 C)212 D) 2541

31.  The cost of carpeting a room 5m broad with carpet at Rs. 3.50 per square metre is Rs. 105. The length of the room
is
A)Sm B) 6m C)6.5m D) 5.5m

32.  The greatest four digit perfect square number is
A) 9999 B) 9801 , C) 9900 ' D) 9000

33. Three numbers are in the ratio 3:4:5 and their L.C.M is 2400. Their FLC.F. is
A) 200 B) 120 C) 80 D) 40

cpedens B8
34. Eva]uate.44 % R

A)2.16 B) 1.26 C) 6.21 D) 1.62
35. 20 men were engaged to complete a job in 10 days, but it was half finished in 6 days. How many additional men
were required to finish the job in time?

A)8 B)9 C) 10 D) 12

36.  The ratio of age of mother and daughter is 7:2. While the age of the daughter is 7 what is the age of the mother?
A) 28 B) 30 €) 32 D) 34

37.  Find the square root of 81/121
A) 8/5 B) 9/11 C)7/12 D) 8/11

38.  Ifaperson covers a certain distance at 5 km/hr and an equal distance at 7 km/hr, then the average speed during the
whole journey is
A) 3.45Km/hr B) 5.83Km/hr C) 6.23Km/hr D) 7.82Km/hr
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39. Ifarhombus, values of adjacent sides are 10.50cm and 8.90cm, value of one diagonal is 11.28cm, then the value

of area is
A)25.68 sq. cm B) 32.46 sq. cm C) 46.73 sq. cm D) 49.36 sq. cm

40.  The interest on a certain deposit at 5% per annum is Rs. 101.20 in one year. How much will the additional interest

in one year be on the same deposit at 6% per annum ?
A)20.8 B) 19.74 C) 20.24 D) 19.5

41. At what rate Rs. 64 will become Rs. 125 in 3 years at compound interest ?

A) 12%% B) 25% C) 30% D) 50%

42. In an election between two candidates , the candidate who gets 30% of the votes polled is defeated by 15,000

votes. The number of votes polled to the winning candidate is
A) 50,000 B) 40,000 C) 32,500 D) 26,250

43. A shopkeeper sold an article at a profit of 20%. If he had bought it at 20% less and sold it for Rs. 18 less, he would

have still gained 20%. The cost price of the article is
A)Rs. 100 B) Rs. 72 C)Rs. 60 D) Rs. 75

44. The length of a rectangle is increased by 60%. By what percent would the width have to be decreased to maintain
the same area of the rectangle?

A) 25%% B) 37 %% C) 60% D) 75%

45. The length of parallel sides of a trapezium are 7cm, I1cm and its area is 45 sq.cm. The perpendicular distance

between the parallel sides of the trapezium is
A)2.5cm B) 5¢m C) 7.5cm D) 10cm

46. A student obtains scores 91, 88, 86 and 78 in four subjects. What must he obtain in his fifth subject in order that
his average is 85 ?
A) 86 B) 85 C)32 D) 83

47. In a boys camp 30% are from Bihar and 20% of these are from Patna. What percentage of boys ir. the camp are
from Patna?

A) 667/, B) 33/, C) 10 D)6
.2 5 8§ 9 . . . ;
48. The arrangement of ERETRT] and 13 in increasiny order is
8 359 2 2.9 3 8 w3 8 2 9 9 2 8 5
AP 701303 B) 313 7 11 O 3 13 D) 133117

49. If the sum of two consecutive numbers is 11, what is the product of the numbers?
A) 28 B) 30 C) 18 D) 24

50. X is number consisting of 3 consecutive digits. Y is a number comprised of the same 3 digits but in reverse order.
The difference between the two number is
A) 200 B) 2 C) 198 D) cannot be said

1210_15(B) 7

WWWw. previouspapers.in




PART - C (I)
(Compulsory for All)
ENGLISH LANGUAGE

Direction for Question Nos. 51 and 52 :

In the following questions a sentence has been given in Indirect Speech. Out of the four alternatives suggested
select the one which best expresses the same sentence in Direct Speech.
51.  The players reported that the spectators had been cheering during the game.
A) “The spectators have been cheering during the game.”
B) “The spectators cheered while we were playing.”
C) “The spectators were cheering during the game.”
D) “The spectators played while we cheered.”

h
[ 3]

She requested the boys to listen to what she was saying.
A) She said to the boys. “Please, listen to what | am saying.”
B) I said to the boys, “Listen to what | am saying.”

C) She said, “Boys, listen to what | was saying.”

D) She said, I request you to listen to what [ was saying.”

Direction for Question Nos. 53 to 55 :
Each of the following idioms is followed by some alternatives expression, choose the one which best expresses its
meaning.

53. Castles in the air
A) Prefect plan B) Ideal projects C) Visionary project D) Romantic design

54.  French leave
A) Long absence B) Leave on the ground of illness
B) Casual leave D) Absence without permission

55. To make clean breast of
A) To gain prominence B) To praise oneself
C) To confess without of reserve D) To destroy before it blooms

Direction for Questions No. 56 :
Choose the proper noun from the given alternatives.

56. A)Crow B) Beauty C) Silver D) Himalayas
< N (<) ST S noun.

A) Proper Noun B) Common Noun C) Collective Noun D) Abstract Noun
1210_15(B) 8
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Direction for Question Nos. 58 and 59 :
Out of the alternatives given select the correct one which best expresses the same in Passive or Active voice.

58. My friends are watching the match.
A) The match is watched by my friends B) The match had being watched by my friends
C) The match is being watched by my friends D) The match has being watched by my friends

5%.  The police caught the culprit.

A) The culprit were caught be the police B) The culprit was caught be the police
C) The culprit caught be the police D) The culprit had caught be the police

Direction for Question Nos. 60 to 62 :
Pick out the opposite in meaning from the given options.

60. Secular

A) Sacred B) Lay C) Spiritual D) Worldly
61. Oblige

A) Compel B) Force C) Require D) Request
62.  Merit I -

A) Excellence B) Worth C) Disadvantage D) Value

Direction for Question Nos.63 to 65 :

In the following questions, each sentence is divided into four parts marked i, ii, iii and iv. One of the parts may
have an error. Pick it out. If there is no error your answer is (iv). Avoid the error of punctuation, if any.

63. The office assistants did not take (i) / it seriously (ii) / so my brother and myself completed the work. (iii) / No
error (iv)
A)i B) ii C) iii D) iv

64. He rather than others (i) / are guilty in case (ii) / and there is no possibility of any escape. (iii) / No crror (1v)
A)i B) ii C) il D) iv

65. Where she lived (i) / and what she did (ii) / was not known to any of us. (iii) / No error (iv)
A)i B) ii C) iii D) iv

Direction for Question Nos. 66 to 70 :
Each of the following sentence has an idiom or phrase in Underlined/Bold letters, followed by four alternatives.
Choose the one which best expresses its meaning.

66. You have failed to make out your case properly.

A) prove B) prepare C) look into D) improve
67. | must take exception to your remarks

A) approve B) abidc by C) object to D) listen to
68. Somehow, he didn’t agree to carry out my orders.

A) follow B) manage C) execute D) recover
1210_15(B) 9
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69.

70,

We talked over the matter for an hour but couldn’t get to a conclusion.
A) convinced B) discussed C) solved D) mentioned

Today, I saw him in high spirits.
A) drunk B) angry C) surprised D) cheerful

Direction for Question Nos. 71 to 75 :

Read the following passage carefully and try to understand its content. There are some blanks numbers 51 to 55.
Choose amongst the given choice the correct word to fill in each blank to make the passage complete.

Life compels us as adults to think of and work for a purpose; but... 71... we ....72... the process while striving for
the purpose we have .....73 ...... something in valuable. All successful individuals know his secret of enjoying the
Job for...74..... So you can resolve to enjoy what you are doing as you do it..... 75.... it be cooking or running a
lathe.

71.  A)always B) sometime C) alone D) together
72.  A)deny B) refuse C) averlook -D) accept
73. A) through B) achieved C) got D) received
74.  A) himself B) themselves C) ourselves D) fun

75. A) put B) set C) mind D) let
1210_15(B) 10
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PART - C (II)
(Choose any one Regional Language)
Regional Language - BENGALI

u. fEret @3 Rerdreies == -

NS B) e C) Tz D) el
aq.  wwel @F [eorfteies =7 - _ _

A) =il B) 379l C) e3m D) =
v, (7] O3 ReSrees =3y -

A) ST B) igeTsl C) &l D) 7
9. AEE @3 ReFeds =27 -

A) TRETE B) CZEETE C) ST D) §=

vo, foamim @3 ReSTads ==y -
A) TEF B) S7&< C) &% D) FherE

o v @F T TR
wefd fofers IER FAET IO TR -
v, S P (RS 3 w Fees Tw)

A) 76 T9E wo B) 7*1 @ Wi C) w5 @ | D) 715 = |
o v TR v 9F G R

oibfers s we N e T@ -
v (PO

A) (TS I 0o B) (% &S GH @ C) (P (6 Al @ D) seysen Afe
v, I I :

A) Ty B) wZ7 C) 53153 D) ¥

v8. HIB T TAILT W -
A) Z= B) 3% C) = D) S|

Ve, AFE b AP =27 - _
A) T B) &Iy C) T RIT D) f
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Y.

va.

bb.

o,

H0,

IR aF TNLP == -
A) TR B) &oM

Yol GF AL *=7 -

A) TeFTH B) 3%

IF GF FANLT =7 -

A) aifstny B) rwis
2 vy GAR $o AF T TR 3

Jesife 1 epfs-efom fefa w0 2w -

JHY -

A) T + *715 B) g + *I

I -

A) Frel + R B) f*ret + 3%

o2 5y aR % 97 Ty e ¢

®9.

B

I 7T R/ ARTE 9%y 3970 3= -
COTRTST -

A) TefE A1 ey B) wii#fwf&fs
I -

A) ®ETe! B) FAISy

2% 59 G2 $8 9T T T ¢

30, @ FFT (O @

A) SIAES ferae B) >1I9 forger
»8. AT FF9 WY 76

A) TR R B) $% Reerae
1210_15(B)

C) wfire

C)

C) =

C) wfeerfe

C) uffEfe

C) SRS Rrorge

C) =% faorge

D) F@ey

D) Greferar

D) el

D) 328 + * 5

D) fory + fir=e

D) =i

D) Ao’

Dj XRIBS Reras

D) @ @ns RoEs
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o ¢ G98 SY GF TR WA ¢

it oz T @IS 27 |
s¢.  SFFR -

A) 7R3 + IR B) o[ + I C) 5 + I D) #: + I
»L.  FRFY -

A) 3 + TUF B) 391 + Toieell C) ¥4I + 391 D) 391 + Go

2T 59 @R by GF Ty U 8
e IR I Fee 330 7@ |
»q. IS R FRE ST I @ -
A) FI57 B) T35S C) ©IRA3 D) (FF2 77

Sy, I YreF-wed FHE -

A) FEGI5F B) ©IJM5] C) F45y D) @2 77
2 »% G oo GF T R ¢

o AN F909 A |
on. e -

A) Tosfe B) femfa C) fermsfer D) feres
voo. VI -

A) T2 B) W=e C) =T : D) SR
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PART - C (IT)

(Choose any one Regional Language)

Regional Language - HINDI

I HEAT 9%, | \9¢ Tk & fag
frerfefas aret # i s i ¥ erafie wue s T

\9%.

LI 1 s O s |
(A) (B) © (D)

vo. I FEwHE A Fum = afed i

\9¢,

(A) (B) (©) (D)

TR E fowm foemd fae memmRaE R
(A) (B) (©) (D)

99F HET 9% | 900 9% & 10 :

©R.  fora B & =1 ==oii 7 16 W B ¥ 39 Ty #

A) <@ B) =g C) Tem
¢o. 'R’ VeE w1 THifen w w2

A) Feiferdt B) Herferit C) W
¢t V'HI A = W 2@’ # ' e w5 o fae §

A) % B) WM C) Hey
¢R. H w0 BRGER WS | A | S T e €

A) ST B) sfg@r C)#
¢3. =14 o wies St WY degpa @ ow ¥ 39 e

A) T B) Tg+ C) srh-aeey
¢%. 'favE’ fem g = seem §2

A) TS B) stedtuTa O fem
¢q. V'FH! e ol B’ — T A | e e €2

A) gy B) FIYRVEIYH C) YyaIYE
¢q. ‘qifea’ d =iy 2

A) T HY B) =His HfYy C) fagt dfy
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C) s

C) ST

C) =T

C) 7Td WA S

C) F3R

C) w3

C) Taerars

C) T

C) faumEmn

C) 37

C) F9]

Q) ~am

C) w9

C)w + fea

¢, ‘o’ = gEigeTE T 2

A) TEFR B) &4
¢e. T w1 TAgETE E

A) F11 B) ST
¢R, e A v erd ®)

INEUGREE B) =3¢ WA
Qo. ‘T I’ I AW B T |

A) I T ST B) Wik g1
Re. ‘=0’ F faeim w= ¥

A) g B) fregt
Q. 'mmedR’ v faem v ¥

A) fay B) 59
Q3. 'wiEr™’ e @ &1 ¥

A) feaiet B) gvafa
Q¥. ‘'S wtyg e oft weaw # wfa @ e

T o 3y S 98 o sE oTE 11" H TSR ¥

INELL B) voi¥
R4, ''TRUF qE T FHE I I FH Ui’

STHAFR H B ¥ |

A)T=<e B) wHTHIad
Rg. ‘sifgmw’ d ywg

A)® B) T«
qe. fAAdfFI VA Favg e ?

A) difTH B) eSS
R¢. fFHAHA M suwifFm == H &2

A) fay B) A
’R. fr= 4 & '§q’ Suwd =t ®1

A)E=a B) geYer
g00. ‘dfga’ = dfy-fasse B

A) T + faa B) ¥ + 3@
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D) dRY

D) REREE

D) §%a 2H

D) T4s B S

D) %1

D) w7erE

D) TRr=

D) 3&tan

D) <o

D) sifeg

D) =T

D) faiu
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PART - C (1)
(Choose any one Regional Language)
Regional Language - NEPALI

WY GEAT 9§ 2T ¢ o ]
feguent arem =it sref TS W vl T TR uvTEE ST I AR

%, IS SEAER Y TR T g |

A) a1ef B) a7ed C) ¥gfd D) afstedt
9. TR Afere fog

A) 4 B) amafa C) 7rq D) Hie
94, STHTIH 9red |

A) ST B) sre C) T D) ¥z&M
0%, R TEYH! e |

INE B) &ifa o) D) T

¢o. FFH i U & T |
A) Bl B) 399 C) ity D) T4

W9 HEAT ¢ &2 L% T
UTEH SRR AT V{5 AT TS =14 T eatant 39 fEqa)

¢%.  A) HE HITHEEH A HIH T |
B) 318 HIfTHE%el 379 1Y T |
C) 319 MHHese 379 FY TS |
D) 3Tt i Hesel 3T8e F1H TS |

¢R. A) IfgHR M ST g2
B) 9fsHH WY Fo@aH £
C) gfsHr Wi1g Feam B
D) SfeHM Hif T Ferem & |

¢3.  A) TITEH g1 I I, WYE 1 faas enfe €
B) Hifreh! 7@ T v, T|HE T a9 anfe g
C) WfTE=h! H&A T ¥, =9e T fodes onft g
D) wif¥EeR! H&g T i, WuE 1 faas onfg g
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¢¥.  A)fagr T 9@ frerers st firen fau)
B) forgr Teet 7@ foreyens foen sroer fea
C) fasm e 7@ foreend st faen fear
D) fagm &t 9@ frsaens fen stae fou)

¢, A) faferdt Feees) aHaR 6 99 98ET )
B) fafeTdt Teresen! AHIE THI T4 Geres |
C) fofedt Feress! TH R Fao TeEe |
D) fafedt Femest I e 14 geEe |

U9 HE&AT L& F2&T R0 Tl
faguent aramar wr wam ftwsr! @it v a1 ug aur areaiyTet T HuTATel YTee a1 Sreivt Y ST TUUYTEET 367
Iéﬂ_g‘ﬂl

¢, 3 Tiet 99T fa v |
A) ¥ T B) WeFsh! F2m feeq C) W9 T D) i a3

€9, ERRETE SFR WIW U S 3961 3@ God 991
A) 3T 35 B) I & C) a7 7 D) 7 ¥@= i T

¢e.  FTH! FU G WY Sl SS-H@ R 4|
A) fai @ B) TR o C) BT @IRT ifaq D) HIEd F33 AT

¢ THH B 9 AT STHE WrF1-97 a2 |
A) ™ T B) faiq C) HierY &7 D) fasr arg

R0, ﬁfrﬁ@ijnﬁ@wmf@é%é’n
A) it feq B) %9 7 C)g:a feq D) 3@ %

U9 HEAT ] &2T Y% HEAT
feguent arerr ur nfuwT Wit yreg an ueet W faudiarede vrez gehes B TR WvTR T IO fea |

R HUTH Sfige S Hereh! uel Wl g
A) FSI B) HeR C) yera D) !

R g Ty e e Uy e a1

A) e B) 9™ C) zfi D) 3154
3. Wi TEel HHEE H5d T wen fHeEue

A) TR B) =4 C) wH D) FHA
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R%.

M.

gaTeas! Sl e fugpon fyen | wemmn sfiust o)

A) T B) =THd
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